FINAL EXAM - MTH 099 INTERSESSION 2011

MTH 099 {144 + 6 free)
3 June, 2011 Narne: )

Read the following information before starting the exam:

¢ Read the instructions at the top of the next page. Please mark in the table your responses
from the multiple choice questions that appear throughout the test in the appropriate
area on page 2. If an answer does not appear on page 2, then that answer will not be
considered.
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CROSS OUT THE-FHREE PROBLEMS YOU WOULD LIKE ME TO NOT GRADE.
Problem Number | Response?
1 a.)

b,
2 a.)
b,
3 a.)
b.)
4 a.)
b.)
5 a.)
b.)
6 a.)
b.)
c.)
7 a.)
b.)
8 a.)
b.)
9 a.)
b.)
10 a.)
b.)
11 a.)
b.)
12 a.)
b.)
13 a.)
b.)
14 a.)
b.)
15 a.)
b.)
16 a.)
b.)

17
18 a.)
b)
19 a.)
b)
20 a.)
b.)
21 a.)
ib)

g;ﬁ.
PR it ~3




1. (8 points) Find the GCF of...

(a)

(b)

75 and 30
A) 5
C)\5

6a2b and 3ab®

A)bab

C);Sakb

2. (8 points) Factor the binomial.

(a)

(b)

z? — 16
A) (x+1o)-1t)
CO) (x40t )
ot - 36
A)(k+6)x—¢)
C)(x+ﬁkx+4)

3. (8 points) Simplify.

(a)

(b)

a) x°

)

G
A) 9T

)RyRVT

B) 10

b) 30

B) 3%

D) 3ab
B)(x»(?_)(xﬂ,)
D) (e —1t)

gy (+ 2¢)(x~3¢)

D) (¢ -9)x Fy)

5
B) X
PYVx*

B)XY 7
DYLESER



4. (8 points) Simplify. ib
2 |

(a) Sgﬂ\ 2 C,) 3_--
34 D) §

(b) 81%ﬁ) 3 (_) q

\ & D)AT
R) 3

5. (8 points) Recall that a relation is defined as a set of ordered pairs.
(a) Is the relation consisting of the points (2,3), (9,7), (—6,1), (=6,2), (7,9), and

(11,2) a function?/:1 ) “’(/.2 < 9

5) Ve 55

(b) Is the relation consisting of the points (3,3), (1,2), (13,23), and (3,42) a function?

B) NO /X

6. (8 points) To rent a home water softener, there is an installation fee of $50 plus a $35
monthly fee.
(a) Write a linear equation to represent the total cost, y of renting the water softener

for = months. A) ‘j'; £%50 "‘;55;( (,)Lj -~ §35 ¢ $50x

By yz$d0x  D)y=I%* $35x

(b) Use the linear equation to compute the cost of renting the water softener for 7
months. A ) {2495 (:) £ 360
~
g) $1z¢ b)+i%0
(c) Use the linear equation to compute the cost of renting the water softener for 1
year. A)f300 C) iyaé

A ) g [
) 295 D)t



7. (8 points) Factor the trinomial.

(a) z as)m[;i’})(x“l) C\(M\S)““L [ )

) (x+3)xt2) D) (x-3)0x2)
(b) x? + Tx + 10

) (x-)r) el

B (xrs)x+2) D) (x#3)x-2)

8. (8 points)

(a) Use the point-slope formula to write an equation of the line with slope —3 passing
through the point (1,2). Write the answer in slope-intercept f)orm.r_
. _rC. C u=-x4 >
A) Y= ox-5 QR
R)Y=23x-5 D) 4= Ixd
(b) Use the point-slope formula to write an expression of the line that passes through

the points (~1,3) and (-5, —2). Write the answer in slope-intercept form.

AY9=3xd O Y gxr2

B)y=dns'dl DIITETS

9. (8 points)

(a) Find the slt?pe of a line parallel to a line that has slope %
A) -5 ¢) 5
B) - & D) L
F) >
(b) Find the slope of a line perpendicular to a line that has slope g
A)-5 Q£

D)

e

B) -

o~ (A



10. (8 points) Determine if the pair of lines are parallel, perpendicular, or neither.
(a) y=—-br+4and y = —Hx — 3

A)petel QT

P))Pﬂf @ndiulov éﬁq/

(b) y=2x+9and y=1111x 411

Apovatle | ) rether

) Pefmi?wwv%

11. (8 points) Simplify.

(a) (-11)° ,
Ay O <)
B) - D) I
R 28 Q) 25
» -
s D) ¥
12. (8 poz‘m:s)a Sﬁimplify.
@ w2 6
A) w? c) W
Ts) i ? P 7
(b) wZ:cs
23
o) X O

. ‘_"-/
B) x° o



13. (11 points) Solve the equation.

(a) 3z +pi; 79\ C) 5

5) Y D)5

(b) 11 — (2w + 1) = 3[(4w + 5) — (w + 1)]

A) % ¢) &
D D)%

14. (11 points) Identify each equation as conditional, contradiction, or identity.

(a) 3(z+1)=9+3=
_ | denatds
A (ondiional C) Meatty
‘6) Lon Fredichion 49/

()  2q+3=2g-1)+5
ﬂ 7 (P,p\_A:‘l‘\\Zr\a' C) ; Cl'{/\)l'_'{‘ﬂ

) Conbrudithon 'ﬁ

15. (11 points) Solve the equation. -1
(a) 2p+2=1 CL) (2

A) h
B)
(b) 52w +2.1=1

N -l ool O Ll G L
A) %l°<w51) 52 7 52

LN 7|
L@ B)D) TE Crs)

1{3



16. (11 points) Answer each question.
(a) If z represents the first of two consecutive integers, write an expression representing

the second integer. A \ f‘k: 1 ‘ C \3 X 3 }

B) x+2 D

(b) If = represents the first of three consecutive odd integers, write expressions
representing the second and third integers.
C ) 1+ at Xt 3

H ) X+1 and X+

%) X+2 oned r+Y D)T’Lg ol A5

17. (11 points) The total cost (including tax) of a pack of gum is 1.53 dollars. If the sales
tax rate is 6 percent, what was the cost of the gum before the tax?

A) $147 ¢) .48

‘B)f'-‘f’“f D)$ye

18. (11 points) Solve for the indicated variable.
o D
(a) Solve 3z — 2w =9 for w. y - W 1
. g )W X
A) w= -2

93x

| q-3x D) w= 3
B) W = 7
(b) Solve A = mr? for .
A
A Q) o
A) ™ ‘
ol

N
A

)



19. (11 points) Solve each problem.
(a) The perimeter of a rectangular garden is 16 ft. The length is 3 ff more than the
width. Find the length and the width of the garden. 0

A)%qh&{% )"“ andh T
E))Z“S D) 6 a1

(b} The latgest angle in a triangle is five times the smallest angle. The middle angle
is three times the smallest angle. Given that the sum of the angles in a triangle is 180 degrees,
find the measure of each of the three angles in the triangle.

A\ 10 ", b0 ") 100° C) 300; 700} 112°

b o .0 °
o) 1) D0 D
B) 2 p’ @ D) 4o’ 1’ Ho
20. (11 points) Find the x-intercept and the y-intercept of each line.
2 3 __4
@ 53 Y vistenept: (0,2) Q) K=inderegt : (210
m}-tnﬂ-("f (lvg 6 ) Y‘\‘t\'!‘éﬂ-&p‘!" . (0) ‘t/g )

o K-iat: Cl) D) Y-iak s ()
) NEUSSWE D y=-rt (h2)
(b) o+ 3y =2 : 9
A) '}{"‘W‘* (1;0) C_) p n¥ ! (.ql z
M=tad! (0) 3) Y-t (2,7

D') Y‘\&"': (!2-1‘?) b) \)h‘,- (D) 7;1/'/
\J‘\'l‘(\-',' ChTy \}"\‘t\‘?": C})D

o

IA
21. (11 points) Find the slope of the line between the two points. .ﬁ/’” Pre -E)] ow )
(@ (-2.4)and (1,9) Y Soive sovadinnd
L Q) - gyren oF €1
- =10
3 -3 x-29=
R)) [‘1 D) /'2.
x+ily=0

(b) (~6,~1) and (1,1)

~)°h - Q7h

@) 7[2 D) _,7/1 !q)("l)'l)

‘?7) (2,2

Q)Ul"i‘

D) (-2



